

        Form A


Core Focus on Rational Numbers & Equations
Block 2 Review ~ Integers
Name__________________________________________      Period______      Date____________

Part I – Selected Response
1. Which pairs of numbers are opposites? Circle all that apply.

A.  −10 and 10

B.  0 and 1

C.  10 and 100

D.  −7 and 7

E.  50 and −0.50
F.  
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2.  What is the value of 
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A.  −7
B.   0
C.   7
D.  7 and −7
For numbers 3a – 3c, determine whether each statement is true or false.
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3a. The numbers −3, −4, −8, 1 
      are listed from least to 
      greatest.    
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3b. Negative seven is less 
      than negative six.    
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3c. The numbers 8, 1, −7, −12 
      are listed from greatest to 
      least.    

4.  What is the value of the expression below?

[image: image4.wmf])

3

(

4

-

+

-


A.  −7
B.  −1
C.  7
D.  12
5.  Which of the following expressions have a value of 16?  Circle all that apply.
A.  
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B.  
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D.  
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6. Derrick withdrew $17 from his account on Monday.  The next day he deposited $12 in his account.  What integer represents the total change in his account over these two days?
A.  $29
B.  $5
C.  −$5
D.  −$29
7.  What is the value of the expression below?
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A.  −77
B.  −8
C.  8
D.  968
8.  Adam lost 54 points over the last 6 rounds of a card game.  He lost the same number of points each round.  What integer represents the effect on his score per turn?
A.  −54
B.  −48
C.  −9
D.  −6
9.  What is the value of 
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A.  6

B.  8

C.  16

D.  32

For numbers 10a – 10d, circle YES or NO for each statement.
10a. 
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    YES                 NO

10b. 
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    YES                 NO

10c. 
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    YES                 NO

10d. 
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    YES                 NO

11.  What is the value of the expression below?
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A.  −66
B.  −54
C.  −6
D.    6
12.  Four people split the cost of the last three lunch bills.  The three bills were $21, $35 and $16.  How much did each person contribute?

A.  $18

B.  $20

C.  $24

D.  $60

Core Focus on Rational Numbers & Equations

Block 2 Test ~ Integers
Name__________________________________________      Period______      Date____________

Part II – Constructed Response

Find each sum, difference, product or quotient.  
1.   −5 + 3 = ____


2.   1 − 14 = ____


3.   −8(−2) = ____
4.   
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5.   6 − (−3) = ____


6.   −7 + (−2) = ____

7.   
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 = ____

8.   −3(−5) = ____


9.   −10 − 12 = ____

10.  What is the opposite of −7? 

11.  What is the value of each of the following:


a.  
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b.  
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 = _____

12.  Write the integer represented by each point on the number line.
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A → _____

B → _____

C → _____

13.  List the following integers from least to greatest:  −5, −1, 7, 0, −4, 1
14.  Malia played 4 rounds on a video game.  Her scores for the rounds were 8 points, −3 points, 10 

       points and −6 points.  Malia ordered her scores from least to greatest: −3, −6, 8, 10.  Did she 
       order them correctly?  If not, correct her mistake.

Find the value of each expression.  Show all work to support your answer.
15.  
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17.  During a two-day golf tournament, Fran scored +3 on the first day and −1 on the second day.  
       What was her overall score for the tournament?
18.  John uses ice cubes to cool his lemonade.  Each ice cube lowers the temperature of the liquid by 
       2º F.  He adds 5 ice cubes to his lemonade.  What integer represents the change in temperature 
       of the drink when he adds the 5 cubes?  Explain how you know your answer is correct.
19.  What is the sign of the sum of −4,567 and 3,761?  Explain your reasoning.

20.  Carly’s work finding the value of the expression 
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 is shown below.  Determine 
      whether or not her work is correct.  If it is incorrect, show Carly how to find the correct value.
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Part III – Problem Solving

Xiong had $100 in a savings account.  He made three deposits into his savings account.  The first was $20, the second was $12 and the third was $50.  He also withdrew money five times.  The amount of each withdrawal was $23.   How much was in Xiong’s account after the deposits and withdrawals?
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Answer:    � EMBED Equation.3  ���
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